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ACCOUNTING 1 

 

 

 

 

 

 

 

 

 

gFjp – II 

tpdh ,y 01 

tiuaWj;j NuhkpNah fk;gzpapd; 31/03/2022 ,y; Kbtile;j Mz;Lf;fhd ,yhgel;lk; kw;Wk; 
Vida Kw;Wklq;fpa tUkhdf;$w;W 

tpguk; Fwpg;G ngWkjp ngWkjp 
tpw;gid 
(-) tpw;gidf; fpuak; 
nkhj;jyhgk; 
Vida tUkhdk; 
 
tpepNahf nryT 
epu;thfr; nryT 
Vida nryT 
epjpr; nryT 
tupf;Fg;gpd; ,yhgk;  
tUkhd tup 
Mz;Lf;fhd ,yhgk; 
Vida Kw;Wklq;fpa tUkhdk; 
fl;bl kWkjpg;G kpif 
fhzp kWkjpg;G Fiwg;G 
 
Mz;LFf;fhd nkh. Kw;W tUkhdk; 

1 
2 
3 

 
 
 
 
 

3005 
6275 
990 
460 

 
 
 
 

4275 
1200 

35000 
18000 
17000 
250 
1720 

4 
5 
2 
1   10730 

6520 
560 
5960 

 
 

3075 
1 9035 

 

Fwpg;G 

Vida tUkhdk;    200 
Nkhl;lhu; mfw;wy; ,yhgk;   50  1 
                     250 

tupf;F Kd; ,yhgk; gpd;tUtd jhf;fy; nra;ag;gl;L ngwg;gl;lJ 

,Ug;gG Kiw el;lk;   10 
EPF nryT     75 
fhzp kWkjpg;G FiwT       800 
tpw;gid cj;juthj nryT       160 

tUkhdtup 
epfohz;L tup    540 1 
gw;whf;Fiw      20   1 

560 

 

 

33 T II 

3 kzpj;jpahyk; 

fzf;fPL 

2 Gs;sp 

21 Gs;spfs; 
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tiuaWj;j NuhkpNah fk;gdpapd; 31/03/2022 ,y; Kbtile;j Mz;Lf;fhd cupikahz;ik 
khw;wy; $w;W 

tpguk; $l;Lg;gq;F 
Ntjdk; 

kWkjpg;gPL 
xJf;fk; 

nghJ 
xJf;fk; 

epWj;jp 
itj;j 
,yhgk; 

nkhj;jk; 

01.04.21 ,y; kPjp     
nghJ xJf;fk; 30000 1200 

15000 

300 
10500 

(300) 
 

1 
epWj;jpitj;j ,yhg %yjdk; 
Mz;Lf;fd nkh.Kw.tUkhd 

3000 
1 

 
3075  

(3000) 
5960 

1 
9035 

 33000 4275 15300 13160  
 
 
 
NuhkpNa fk;gdpapd; 31/03/2022 ,y; cs;sthwhd epjp epiyikf; $w;W 
 

tpguk; ngWkjp ngWkjp 
eilKiway;yhr; nrhj;J 

Mjdk; nghwp cgfuzk; 
nrhj;Jg;gad;gLj;Jk; cupik 

eilKiwr; nrhj;J 
,Wjp ,Ug;G (290 – 10) 

tpahghutUkjp (500 – 50) 
fhR 

 
cupikah;ik 

$wg;gl;l gq;F %yjdk; 
xJf;fq;fs; 

kWkjpg;gPl;L xJf;fk; 
nghJ xJf;fk; 
epWj;jpitj;j yhgk; 

 
 
eilKiwahy;yh nghWg;G 

Fj;jif nghWg;G (2300 – 770) 
tq;fpf;fld; 
 

eilKiwg; nghWg;G 
,Wjp tup Vw;ghL 
Fj;jif nghWg;G (1000-230) 
tpahghu nrd;kjp 
Vida nrd;kjp 

 
1 64500 
1  3750 

 
280 
450 
3955 

 
 

68250 
 
 

1 
4685 

 
 
 
 

4275 
15300 
13160 

72935 

 
33000 

 
 
 1  

32735 
 
 

1530 
4000 

65735 
 

1 
5530 

 
1 
1 

 
2        1670    

 
180 
770 
400 
320 

72935 
    
Fwpg;G 
Mjdk; nghwp cgfuz mirTf; $w;W 

tpguk; fhzp fl;blk; Nkhl;lhu; nkhj;jk; 
1/4/21 kPjp 

Nrh;g;gdT 
kWkjpg;gPL 

jpuz;l ng.Nja;T kWkjpg;gPL 
mfw;wy; 
31/3/22 ,Wjp kPjp 
1/4/21 ep. ng..Nj kPjp 
 
ep.ng.Nja;T 
jpuz;l ng.Nja;T kWkjpg;G 
mfw;wy; 
31/03/2022 ,Wjp kPjp 
31/3/2022 K.nfh.t.ng 

3000 
 

(2000) 
 
 

28000 

17000 
3000 

1     4275 
(4275) 

 
20000 
3350 
925 
4275 

25000 
1 
1 
1 

(5000) 
20000 
3300 
2250 

 
(2050) 
3500 

 
 
 
 
 
 
  
1 
 
1 
 

28000 20000 16500 64500 

3 Gs;spfs; 

(10 Gs;spfs;) 

(6 Gs;spfs;) 

(nkhj;jk; 40 Gs;spfs;) 
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Fwpg;G 
nrhj;Jg; gad;gLj;jy; cupik 

Mz;L   fhNrl;L   foptply;   ngWkjp 
  0      2000       1.0     2000 

  1      1000       0.9       900 

  2      1000       0.8       800 

  3      1000       0.7       700 

  4      1000       0.6       600 

5000 

ngWkhdj;Nja;T          (1250) 

3750 

 
Fwpg;G 
Vida nrd;kjp 
nrd;kjp EPF (50 + 75)   125 

nrd;kjp ETF       25 
tpw;gid cj;jthj Vw;ghL   150 
nrd;kjp epu;thf nryT    20 

320 
 

(x UGs;sp tPjk; 2 Gs;sp) 
W1            W2 
nra;iffs;       epu;thf nryT    4800 
tpepNahf nryT    3200   Copau; EPF        50 1 

(-) Nkhl;lhu; Nja;T    (250)  1 epWtd EPF nryT      75 1 
vjpu;g;ghu;if el;lq;fSf;fhdJ    15  1 epWtd ETF nryT      25 1 
nrd;whz;L tp. Vw;ghL   (120)  1 fl;blNja;t       75 1 
tp. cj;juthj nryT    160  1 nrh.gad.gLj;jf; Nja;T   1250 1 

3005        6275 

 

W3             W4 
Vida nryT     180   epjpr; nryT    160  
,Ug;G FiwT el;lk;     10   1 F. tl;b     300 1 
fhzp kWkjpg;G el;lk;    800  1      460 

990 

 

W5        W6  

Nkhl;lhu; mfw;wy; f/F    tpw;gid cj;juthj Vw;ghL 
Nkhl;lhu;   5000  jp.Ng.Nja;T  2050   tpepNahf  120  kPjp   110 

,yhgk;  50  Nkhl;lhu;    3000   nryT 
                   5050        5050   kP/ nr   150 ,/e f/F  160 

270    270 

 

W7 Fj;jifg;ngWg;G 
 

F. nghWg;G 
kp / t  2300   ng.g.cupik   2000 

F. tl;b    300 

2300      2300 
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tpdh ,y - 02 
01) M %yg;nghUspd; kWfl;lis kl;lk;    = 8 x 1200 

= 9600 myFfs;   (2 Gs;sp) 
           X %yg;nghUspd; kWfl;lis kl;lk;    = 6 x 1500 

= 9000 myFfs;   (2 Gs;sp) 
 

02) M Mff;Fiwe;j ,Ug;g kl;lk;     = 9600 – 1000 x 6 

= 9600 – 6000 

= 3600 myFfs;   (2 Gs;sp) 
X Mff;Fiwe;j ,Ug;G kl;lk;     = 9000 – 1250 x 4 

= 9000 – 5000 

= 4000 myFfs;   (2 Gs;sp) 
 

03) M Mff;$ba ,Ug;G kl;lk;      = 9600 + 5000 – (800 x 4) 

= 14600 – 3200 

= 11400 myFfs;   (2 Gs;sp) 
 

04) X kWfl;lis njhif      = 5000 

12000  = 9000 + x – 1000 x 2 

= 9000 + x – 2000 

= 7000 + x 

   12000 – 7000 = x 

     5000 = x     (2 Gs;sp) 
 
   11400 + 36000 

05) M ruhrup ,Ug;G kl;lk;       =    2 

= 7500 myFfs; 
 
 
06)  
 

 

 

       = 200 myFfs;         (2 Gs;sp) 
 

07) nkhj;j fl;lisapLk; nryT = 50 x 20 = 1000        (2 Gs;sp) 
 
08) guhkupg;G nryT = 10 x 200 

2         (2 Gs;sp) 
  &gh = 1000          (2 Gs;sp) 

(20 Gs;spfs;) 
Nk khj rk;gsg; gl;bay; 
     

 

 

 

 

 

 

 

(f;F 1 Gs;sp tPjk; 12 Gs;spfs;) 
2) rk;gsf; fzf;F tuT 519000 

rk;gsf; fl;Lg;ghl;L fzf;F nryT 519000    2 

(nkhj;j rk;gsj;jpw;F) 
rk;gsf; fl;Lg;ghl;Lf; f / F tuT 58000 

nrd;kjp EPF f/F nryT  32000        2  

tpl;L fld; f / F nryT  24000  (nkhj;j mwtpLfs;) 
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rk;gsf; fl;Lg;ghl;L f/F tuT   463000 

fhR fl;Lg;ghl;L fzf;F nryT  463000      2 

(nrYj;jpa Njwpa rk;gsj;jpw;F) 
 

EPF nryT fzf;F tuT    48000 

nrd;kjp EPF fzf;F nryT 48000       2 

(njhopy; nfhs;NthuJ EPF) 
 (nkhj;jk; 40 Gs;spfs;) 

 
tpdh ,y - 03 

M.ngh. ,Ug;G tp.tU V.tU fhR = tp.nrd; + V.nrd; + eP.fld; cupik 
1  -25000 +10000    -30000  +15000 
2  +30000  -30000      
3 +40000 -40000    -40000  +40000  
 -400        -400 
4   -20000   -15000   -5000 
5  -5000       -5000 
6   -20000  +20000     
7     -2000    -2000 
     -1000    -4000 

-6000 
8   -4000      -4000 

9          

10   +3000      +3000 
(25 Gs;spfs;) 

 
,yhg rPuhf;f $w;W 
 
 
 
 
 
 
 
 
 
 
 
 
 

    (8 Gs;spfs;) 
     
 
 
 
 
 

    (3 Gs;spfs;) 
   
 
 
 
 
 
 
 
 

      (4 Gs;sp) 
    (nkhj;jk; 40 Gs;sp) 
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tpdh ,y – 04 
 
 
 
 
 
 
 
 
 

 (5 Gs;sp) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

      (7 Gs;sp) 
 
 
 
 
 
 
 
 
 
 
 
 

 (5 Gs;sp) 
 
 
 
 
 
 
 
 
 

(8 Gs;sp) 
   (25 Gs;spfs;) 

m) i)   FIFO Kiwapy; ,Ug;G (200 x 30) 6000  1 

ii) WAC Kiwapy; ,Ug;G = (200 x 28) 5600  2 

iii) FIFO Kiwapr; fpuak; = 250 x 12 = 3000 

       = 150 x 20 = 3000   6000 

       = 250 x 20   5000 

       = 150 x 40   6000 

17000    3 

       200 x 40 = 8000 
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iv)  WAC Kiwapy; tpw;id fpuk; = 800 x 25/-  = 20000 

  = 300 x 28  = 8400   28400     2 

v)  FIFO Kiwapy; nkhj;jyhgk;  = 88000 – 28000 

   = 60000        2 

WAC Kiwapy; nkhj;jyhgk; = 8800 – 28400 

  = 59600              2 

(15 Gs;sp) 
  (nkhj;jk; 40 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

   (28 Gs;spfs;) 
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1) cupik %yjd jpUk;gy; tPjk; =  2000 

        30000 

     = 6.67% 

 

2) tl;br; fhg;G tpjk;     = 2400 + 200 

200 

    = 13 klq;F 
 

3) fld; cupik     =  2000 

             30000 

    = 6.67% 

4) gq;nfhd;wpw;fhd ciog;G         =  2000 

        2000 

    = 1/- 

 

5) nkhj;jr; nrhj;Jf;fhd tUtha; tPjk;  = 2000 + 200 

33000 

     = 6.67% 

 

6) fld; tPjk;   = 2000 

   32000  

      = 6.25% 

 

   (12 Gs;spfs;) 
 (nkhj;jk; 40 Gs;sp) 

     

 

 

 

 

 

 

 

 

 

 

 

 

 

 
(f;F 1 Gs;sp tPjk; 3 Gs;spfs;) 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

 
     (f;F 1 Gs;sp tPjk; 5 Gs;spfs;) 

100 

100 

100 

100 
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(2 Gs;sp) 
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    (f;F 1 Gs;sp tPjk; 8 Gs;spfs;) 
     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 (xU xUGs;sp tPjk; 15 Gs;spfs;) 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

     (xU x UGs;sp tPjk; 5 Gs;sp) 
  ( nkhj;jk; 40 Gs;sp) 

 


